Clipper and Clamper

1. Determine v, for the network shown in below (Consider ideal diode)
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2. Determine v, for the network shown in below (consider ideal
diode)
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2. Determine v, for the network shown in below (consider ideal

diode)

- v+ for - half
AV + v .~ for + half
20V & . = —2

Ans. For ideal
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ﬂiMe forward bias zero resistance.

vi Vo Apply kvl along de, diode, R,; 4y, (V)
0 Apply kvl along de, diode, R.: ‘

-10V-0V-0-Vo=0; Vo=10V
20v -10V-0V-20V-Vo=0; Vo=30V

ov _10V-0V-0V-Vo=0: Vo=10V

-10V -1 oOV-0V+ 1 OV.V'O'..—.O; Vo=0V

T4 |20V | -JOV-OV420V-Vo=0: Vo=-10V |
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